1. Change the following method into a cps-procedure:
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2. Now change that method so it is imperative form using datatype for the continuations and an apply-k to evaluate those continuations the following unfinished code may help:
[image: ]
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(define curry2
(lambda (f)
(lambda (x)
(lambda (y)
(£ xv)))))

(define apply-k
(lambda (k v)
(k v)))

(define make-k
(lambda (k)
(if (procedure? k)
k
(errof 'make-k
"continuation must be a procedure: ~s

k))))
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(define k)
(define v)

(define-datatype continuation continuation?
[id-k]
[list-k]
[length-k]

(define apply-k
(lambda ()
(cases continuation k
[id-k () args]
[list-k () (list args)]
[flength-k () (length args)f|
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(define curry2-cps
(lambda (£ k)
(lambda (x)
(lambda (y)
(apply-k k
(apply-k (make-k (lambda (v)
(f (car v) (cadr v))))

(list x y)))))))
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(define k)
(define v)

(define-datatype continuation continuation?
[id-k]
[list—k]
[length-k]
[curry2-k
(proc procedure?)
(1st (lambda (x) #t))
(c continuation?)])

(define apply-k
(lambda ()
(cases continuation k
[id-k () azgs]
[list-k () (list args)]
[length-k () (length args)]
[curry2-k (proc 1st c)
(begin
(set! k c)
(set! v (proc 1st v))
(apply-k))1)))

(define curry2-cps-imp
(lambda (£ k)
(lambda (x)
(lambda (y)
(begin
(set! k (curry2-k £ x K))
(set! v y)
(apply-k))))))




